HYDRAULIC CYLINDER FOR WOBBLE
Up to Serial # 2804

JAM NUT
Tighten against the switch bar 3/8-24 x 1Y% Bolt
bracket while keeping the //
switches parallel to the magm\ '
j ( el

| “Spacer” for the
Rod End Bearing

[~ L
|| l Be sure that the spacer is
/1

\ evenly set against the

Limit Switch for
low target ——p
Proximity Switch #12A
(N.O.) Red Wires

bearing before tightening
T ‘ = \ \r the bolt.

Magnet

Switch Bar
Bracket

***KEEP GLUE OUT OF
| CYLINDER BLOCK

Limit Switch for
high target
Proximity Switch #11A
(N.C.) Black Wires

Apply Locktite glue to

ll l the threads in the area
' indicated.

(Diagram 37) | ‘ ‘
Ll
==
|
Grease the cylinder block once / \
every two-five years (as needed). =

The grease fitting is on the backside 5/16 - 18 x 1 %” Bolt
of the cylinder.

51 G Rev. 6/03



MAGNETIC HYDRAULIC CYLINDER FOR WOBBLE
From Serial # 2805 ......

3/8-24 Jam Nut

(Not needed with the
magnetic cylinder as

{ \ pictured here.)

Be sure that the spacer is
evenly set against the
‘ ‘ bearing before tightening
the bolt.

Reed bimit Switeh (Diagram 33)

for High Target —— Ol11A

Switch #11A -- N.C. L [
***KEEP GLUE OUT OF
CYLINDER BLOCK
L Apply Locktite glue to
Reed Limit Switch the threads in the area
for Low Target — O indicated.
Switch #12A - N.O. o |

Grease the threaded ;
rod-end of the cylinder ———
end-head every five years T LR

The grease fitting is
located on the back side
of the cylinder. USE
"MOBIL EP1 grease.

-7*5/16 - 18 x 1 %” Bolt

52 G Rev. 2/05



a —
E \ \
Rt ¥ \

«Bottom Bearing

*Grease both the top and bottom throw arm shaft bearings
every 1 2 to 2 years.

53 ERev, 7/02



REPLACEMENT OF
OSCILLATION CYLINDER

TOOLS: 9/16” wrench (ratchet or speedy wrench will help), 13 mm or 2” wrench, 5/8”
and 11/16” wrenches (or adjustables)

1. Stand back, release the throw arm and turn off the machine.
2. Loosen the cylinder bar bolts with a 9/16” wrench.

8 Remove the cylinder rod-end bolt using a 13 mm or %” wrench on the milled end of the
rod and a 9/16” wrench on the rod-end bolt. (Do not lose the bushings or bushing caps.)

4, Remove the cylinder bar bolts.
S5 Now that the cylinder is free, remove the hoses.
6. When putting on the new cylinder, first secure the cylinder to the cylinder bar.

7 Tighten the rod-end bolt to the cylinder rod, making sure that the bushings and bushing
caps are in place,

8. Make sure that the cylinder bar bolts are tight.

9. Connect the hoses. When tightening, make sure that the hoses are turned slightly away
from the frame of the machine. This is done so that the hoses won’t rub against the
machine when at the extreme left and right angle limits.

10.  After installing the new cylinder, turn on the machine. Put the Auto/Manual switch into
the manual position. Push the left button and run the cylinder to the end. Push the right
button and run the cylinder to the end. Now the air is out of the cylinder. Move the
cylinder back to center and begin normal operation.

54 G Rev. 7/03



Diagram 92

ow Arm Travels This Path—= |~

o= T AL - 1
— = 45

R !'\I;“

/ / ;e s ‘-\\ /
PSR X / Rod-End Notice the angle of the hydraulic hose fittinus

Left/Right
Throw army Oscillation Valve
Turret Valve

P 8
e ——— / —
P S S W
= e —

o iy —

\A ff Cylinder Bar Bolts NG

( | \_

Cylinder Rod-F
Bolt

“ .' S g\b’.

e a iy |
e 4

T2 07 T 770 7

Diagram 95

G Rey. 7/03

wn
on



TARGET GUIDE SPRING

POSITION

Up to Serial # 2729
(Turret ON)

Turret Hub

(Diagram 56)

From Serial # 2730...
(Turret OFF)

King Pin

Target Guide
,Spring #2

(Diagram 19)

Measuring to the Guide Spring(s) with the turret off : from the face of the kingpin measure 13”
to Spring #1. Measure 13 3/8” to Springs #2 and #3. See Diagram 19

Measuring to the Guide Spring(s) with the turret on: remove the targets from the appropriate
column. A tape measure easily fits underneath the turret. Measure 12 %” from the face of the
turret hub to Spring #1. Measure 13 1/8” to Springs #2 and #3. See Diagram 56

Also note that the Guide Spring is tilted back slightly, so that the top of the Guide Spring is

further away from the targets than the bottom.

If the Guide Spring needs to be replaced use a 7/64” hex drive wrench to remove the two socket
cap screws. Then pull the spring out of the mounting bolt slot.

The spring can be changed without removing the mounting bolt. You will have to remove the
roller plate extension spring to gain access to the socket cap screws.

NOTE: Beginning with PAT-TRAP® # G2730, Target Guide Springs #1 and #3 are no longer

used.

56

G Rev. 9/03



